KOLKATA PORT TRUST HALDIA DOCK COMPLEX

Office of the Sr. Dy. Manager (Dock).

I&CF Division
Chiranjibpur Operational Admin. Building,
2nd Floor, P.O.Haldia, Dist. Purba Midnapore.
PIN: 721604.

NOTICE INVITING QUOTATION

No.: I&CF /SDM/ DOCK/ Q / 834/214 Dated :- 24.05.17

Quotations in sealed cover are invited from enlisted contractors of I&CF Division of category A, B & C for the following work at Haldia Dock Complex :

1.	Quotation No.	:	I&CF/SDM/DOCK/Q/ 834
2.	Name of work	:	Quotation for making a frisking booth for ladies at G.C.Berth Main Gate at H.D.C., Haldia.
3.	Estimated Value of Work.	:	Rs. 31,300.50
4.	Earnest Money	:	NIL
5.	Time of completion.	::	1 (One) month
6.	Last date of sale of Quotation.	::	06.06.2017 up to 2.00 P.M.
7.	Last date & time of submission.	::	06.06.2017 up to 3.00 P.M.**
8.	Date & time of opening of Quotation	::	06.06.2017 shortly after 3.00 P.M. **

Quotation may also be downloaded from the web site <u>www.haldock.gov.in</u>.

Quotation is to be submitted super scribing the name of the work on the sealed cover. Quotationer's authorised representative may be present during opening of Quotation.

The Trustees do not bind themselves to accept the lowest offer of any quotation or assign any reason thereof.

** In case of sudden declaration of Holiday due to any reason or in case of calling strike or bundh causing disruption of traffic movement and normal life on last date of submission of tender, it will stand extended to following working day.



KOLKATA PORT TRUST HALDIA DOCK COMPLEX AN ISO-9001-2008 ORGANISATION

Office Of the Sr. Dy. Manager, Dock, I&CF, Haldia Dock Complex,
Operational Building, 2nd Floor, B- Block,
Chiranjibpur, P.O. Haldia, Dist. Purba Medinipur - 721604
Tele Fax - 03224-252110

No: I&CF/SDM/DOCK/Q/834

To,		Page 1 of 5
• • • • • • • • • • • • • • • • • • • •		•
• • • • • • • • • • • • • • • • • • • •	•••••	•
• • • • • • • • • • • • • • • • • • • •	• • • • • • • • • • • • • • • • • • • •	•
		•
•	or making a frisking booth D.C., Haldia.	for ladies at G.C.Berth Main

- The work shall be carried out by the successful quotationer as per Bill Of Quantities, KoPT's General conditions of Contract, Manual for Civil Engineering Works and PWD Schedule.
- 2. The quotationer shall include in their prices any sum payable for all prevalent taxes ,duties and surcharges thereon, or other wise to the Govt. or public bodies of individuals, local haulage, unloading and stacking etc. and such taxes shall not be an extra charge payable by the Trustees. But applicable Service Tax, Swachh Bharat Cess and Krishi Kalyan Cess will be paid extra by the Trustees.
- **3.** The quotations must be submitted in sealed cover super scribing the name of the quotation at Sr. Deputy Manager(Dock)'s Office, I&CF Division at Chiranjibpur Operational Administrative Building, H.D.C. within 15.00 Hours on 06.06.2017.
- **4.** The overall lowest offer received will be considered for acceptance .
- 5. The Contractor shall make his own arrangement for supplying, loading, unloading & carrying the all requisite materials including all necessary tools and tackles & labourers etc., as per attached B.O.Q.
- **6.** The work has to be done without hampering the movement of vehicles.

- **7.** Ko.P.T.(H.D.C.) reserve the right not to accept any Quotation or assign any reason therefor, also reserve the right to accept the Quotation in part or as a whole.
- 8. The work shall have to be completed within 1 (one) month including preliminary time.

Enclo: Bill of Quantities.

Sr. Deputy Manager (Dock), I&CF Division, Haldia Dock Complex

BILL OF QUANTITIES.

Quotation for making a frisking booth for ladies at G. C. Berth Main Gate at H.D.C., Haldia.

Sl. No	Description of item	Quantity	Unit	Rate	Amount
1	Supplying, fitting and fixing 9mm thick boiling water resistant ply conforming to IS: 303-1989 bonded with phenol formaldehyde synthetic resin of approved make and brand fitted and fixed as per design as per approval and direction of Engineer in charge.	14.00	Sq.M	1311.20	18356.80
2	Providing 25mm thick styles ,rails, supporting frame with Sishu, Gamar, Champ, Hollak wood etc including fitting and fixing all complete.	1.50	Sq.M	2043.80	3065.70
3	Providing iron butt hinges(100mmx75mmx3.5mm) of approved quality fitted and fixed with steel screws with ISI mark.	3.00	Each	82.50	247.50
4	Providing anodised aluminium tower bolt of size 150mmx10mm dia of approved manufacturerd drom extruded section conforming to IS 204/74 fitted and fixed with cadmium plated screws.	1.00	Each	80.30	80.30
5	Anodised aluminium D type handle of approved quality manufactured from extruded section 100mm grip X 12mm dia rod with continuous plate baseconforming to IS specification fitted and fixed complete.	2.00	Each	107.80	215.60

Sl. No	Description of item	Quantity	Unit	Rate	Amount
6	Providing anodised aluminium sliding bolt (250mm x16mm dia) of approved quality manufactured from extruded section conforming to IS specification fitted and fixed complete.	1.00	Each	297.00	297.00
7	Supplying, fitting and fixing glass reinforced polyester translucent fibre glass 1.60mm th. sheet (natural white or tinted blue colour) as per IS 12866-1989 in roof fitted and fixed with 10mm dia 'J' or 'L' hook, bolts, nuts, limpet and bitumen washers and putty with 150mm end lap and one corrugation minimum side lap complete.	4.00	Sqm	932.80	3731.20
8	Providing & applying Two coats of Synthetic enamel paint on steel surface over a coat of synthetic oil bound primer of approved make and brand including smoothening surface by sand papering etc.	8.00	Sqm	118.80	950.40
9	Providing & applying Two coats of Synthetic enamel paint on Timber surface over a coat of synthetic oil bound primer of approved make and brand including smoothening surface by sand papering etc.	30.00	Sqm	133.10	3993.00
10	Painting Block letters or digits in any approved paint as per direction Size upto 15Cm.	22.00	Each	16.50	363.00
		22.00		= Rs.	31,300.50

[Rupees Thirty One Thousand Three Hundred and paise fifty only]

Rate Quoted by me / us is: () % [percent] Above / Below/ At Par with the estimated value given above.

Signature of Quotationer with seal & Address

ABSTRACT FORM OF QUOTATION

I / We hereby tender for the under mentioned work for its execution within the specified time and in accordance, in all respects with the specifications, design, drawing and instructions in writing and with such materials as are provided for, by and in all other respects in accordance with such conditions so far as practicable.

(TO BE FILLED IN BY THE BIDDER)

(T() BE FILLED IN BY TH	E BIDDER)
-	uotation for making a friskin Iain Gate at H.D.C., Haldia.	ng booth for ladies at G. C. Berth
(b) Estimated Cost.	: Rs. 31,300.50	
(c) Earnest Money	: NIL	
(d) Time allowed for com	pletion of the work. :-	1 (one) month
(e) Permanent I/T A/C No). :	
(f) Maximum number of workmen to be engaged on any day.	:	
(g) Bank Details	:	
Name Of Ba	nk :-	Branch :-
Branch Cod	le :-	Account Number :-